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Sample maxVal vs hr of day
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spike duration vs time of day

0.6F T * . ]
C + + E
05 i =
C + 4
- + ' T E
0.4 t -
= Lt T4 .
C + + + 7
C + m
C ++ T 7
0.3F + N + 4 =
- + T + T
- - - + i
Eo+ + - + ]
0.2 ++ + + ]
= . + 4.+ L+ +
- + + +, T+ ]
- S SR N 4+
o4k IR T o o +*+$ * L =
A + o+ + ++ T =
= + ++ ot % b+
E BT e U RIS i SR = ol e o o e = Sl
T =

23 24 25 26
tm [hr of day AST]



Number of spikes

Number of spikes

Number of spikes

190311 Number of spikes vs spike duration (all data). (full scale,log scale)
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190311 Number of spikes vs spike duration (on,off)
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Number of spikes

Number of spikes

Number of spikes

190311 Nu

mber of spikes vs spike duration (all data). (blowup,linear scale)
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190311 Number of spikes vs spike duration (on,off)
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maxVal spike[sigmas]

avgVal spike[sigmas]

MaxValue spike vs spike duration (by on,off)
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